
 

DDEEFFEENNSSIIVVEE  AANNDD  CCOOMMPPEETTIITTIIVVEE  BBIIDDDDIINNGG  

OOVVEERRCCAALLLL::  ((SSTTYYLLEE;;  RREESSPPOONNSSEESS;;  11//22  LLEEVVEELL;;  RR//OO))  

SSttyyllee::             NAT, 1st level: 5+ cards, 7÷17 HCP, 2nd level: 9÷17 HCP 
RReessppoonnsseess::  1 NT: BAL, 9÷11 HCP; 2NT: BAL 12÷14 HCP aft. m O/C  

  2NT: 4 cards fit, BAL 9÷11 HCP after M overcall (O/C)  

  Jump Raise: 9÷11 HCP, 3+ cards fit;  New Suit: F1. 

  Jump New Suit: 5+ cards & 4+ cards fit, 7÷9 HCP, F1.  

  CUE: 11+ HCP, 3+ trumps; RESP DBL: after raise  

RReeooppeenniinngg::     9÷10 HCP, may be with 4 cards 

11  NNTT  OOVVEERRCCAALLLL::  ((22nndd  //  44tthh;;  LLIIVVEE;;  RREESSPPOONNSSEESS;;  RR//OO))  

22nndd:: 15÷18 HCP, BAL    RReessppoonnsseess::  Same as after 1NT opening 

RReeooppeenniinngg:: 11÷14 HCP, BAL;    44tthh::  15÷18 HCP, BAL     

EEssccaappiinngg  ffrroomm  11NNTT  ddoouubblleedd::  PASS=ask rdbl, penalty or 2 suiter,  

RDBL = , SUIT = TRF, 2/3 = INV for 4M, 3/= INV for 3NT 

JJUUMMPP  OOVVEERRCCAALLLL::    ((SSTTYYLLEE;;  RREESSPPOONNSSEESS;;  RR//OO))  

SSttyyllee::     WJO 2/2/2, 6-10 HCP, 6 (5) cards;  

 3 = two highest suits, 5+- 5+ cards, WK/STR 

 3// =PREEMPTIVE           RReessppoonnsseess::    NAT 

UUNNTT::   2NT = two lowest suits, 5+- 5+ cards, WK/STR;   RR//OO::    Same 

DDIIRREECCTT,,  44TTHH  HHAANNDD  AANNDD  JJUUMMPP  CCUUEE  BBIIDDSS  

DDiirreecctt  CCuuee  BBiidd::    lowest and highest suit, 5+- 5+ cards, WK/STR      
JJuummpp  CCuuee  BBiidd::  Stoper ASK (for 3NT)          RReessppoonnsseess::   NAT  

VVSS..  11  NNTT    ((VVSS..  SSTTRROONNGG  //  WWEEAAKK;;  RREEOOPPEENNIINNGG,,  PPHH))  

vvss..  SSTTRR  11NNTT  ((1155++  HHCCPP))::    MULTI-LANDY, all pos.    RReessppoonnsseess::    NAT 

vvss..  WWKK  11NNTT::  MULTI-LANDY, except DBL, which is penalty, all pos. 

VVSS..      22  MMUULLTTII    

DBL=good 3+ cards both M, 15+ HCP, 2= T/O DBL of hearts;  

2= T/O DBL of spades; 2NT= 15÷18 HCP, BAL, no 3 cards both M; 

3/3=NAT, NF;        RReessppoonnsseess::    NAT,  2NT=LEBENSOHL 

VVSS..      PPRREEEEMMPPTTSS  

VV..SS..    Ekren & Muiderberg: 2NT=15÷17 HCP, M stoper(s); DBL=T/O  

VV..SS..    3rd level: DBL= T/O; O/C= NAT; vs. 3M: 4m=5+m-5+other M, STR 

VVSS..      AARRTTIIFFIICCIIAALL    SSTTRROONNGG    OOPPEENNIINNGGSS 

VV..SS..  11: DBL=+ ; 1=+ ; 1=+ ; 1=+ ;             

1NT=  + ;  2= + ;      2//= WK //       

VV..SS..    11- pass - 11:  DBL= + ; 1=+ ; 1=+ ;             

1NT=  + ;  2=  + ;  2=+ ;    2/= WK /       

OOVVEERR    OOPPPPOONNEENNTT''SS    TTAAKKEEOOUUTT    DDOOUUBBLLEE  

After DBL minor suit opening system OFF, over Major, system ON 

RDBL = 10+ HCP 

NAT:  Suit: 1st level - 4+ cards, 2nd level – 5(4)+ cards, NF 

1/ - DBL - 2M sequence, 2M is STRONG, 6+ cards 

 

LLEEAADDSS    AANNDD    SSIIGGNNAALLSS  

OOPPEENNIINNGG      LLEEAADDSS    SSTTYYLLEE  

LLeeaadd::  OOwwnn  ssuuiitt::  PPaarrttnneerr''ss  SSuuiitt::  

Suit 4th best  (2nd from weakness) small from 3 cards, unsupp. 

NT 4th best  (2nd from weakness) same 

Next natural  natural 

LLEEAADDSS  

LLeeaadd  vv..ss..    SSUUIITT      vv..ss..    NNTT  

Ace AKx(x) - AKJx - AKJ10x - Ax AKJ10x 

King AKx(x) - AK - KQx - KQJx - KQ10x - KQxx(x) - Kx same 

Queen KQ - QJx - QJ - QJ109 - Qx  AQJx 

Jack J10 - Jx - J10x(x) - J109x(x) - J108x  HJ10x 

10 K109x(x) - Q109x(x) - H10x - 10x - 10  A109x(x) 

9 K98(x) - Q98(x) - J98(x) - H9x - 9x same 

High x Sx - xSx - xSxx - xSxx(x)  same 

Low x HxS - HxxS - HxxSx same 

SSIIGGNNAALLSS  IINN  OORRDDEERR  OOFF    PPRRIIOORRIITTYY  

MMEEAANNIINNGGSS::        11  ==  oodddd  nnuubbeerr  ooff  ccaarrddss;;      22  ==  eevveenn  nnuubbeerr  ooff  ccaarrddss;;      

                                                DD  ==  ddiissccoouurraaggiinngg;; EE  ==  eennccoouurraaggiinngg;; SS//PP  ==  ssuuiitt  pprreeffeerreennccee  
CCAARRDD hhiigghh  llooww  eevveenn oodddd  

Suit 

partner’s lead 2 11  D E 

declarer’s lead 2 1   

discarding 2 1 D E 

   NT 

partner’s lead 2 1 D E 

declarer’s lead 2 1   

discarding 2, S/P 1, S/P S/P=Lavinthal 

TTRRUUMMPP    SSIIGGNNAALLSS  OOTTHHEERR    SSIIGGNNAALLSS  

no  no 

DDOOUUBBLLEESS  

TTAAKKEEOOUUTT  DDOOUUBBLLEESS::          ((SSttyyllee;;  RReessppoonnsseess;;  RR//OO))  

SSttyyllee  ::              11+HCP, MIN 3 c. unbid M or 16+HCP,  Equal Level Conv. 

RReessppoonnsseess::      PASS:  penalty; Suit: 0÷7 or HCP 8÷10 w/o 5 cards suit 

  Jump:  8÷10 HCP, MIN 5 cards 

  1 NT:  8÷10 HCP, BAL, stoper('s); Cue-bid: 11+ HCP 

  2NT: STR, 12÷14 HCP, with stoper(s)   

RReeooppeenniinngg::      10+ HCP, shape 

SSPPEECCIIAALL  AARRTTIIFFIICCIIAALL  &&  CCOOMMPPEETTIITTIIVVEE  DDOOUUBBLLEESS//RREEDDOOUUBBLLEESS  

NNEEGG  DDBBLL::      7+ HCP 1st level, 8+ HCP 2nd level, 10+ HCP 3rd level. 

RReessppoonnssiivvee  DDBBLL::     after raise; after found fit, DBL is GAME INV 

DDOOPPII  ((RROOPPII))::             after intervention over BW, RKCB and Gerber 

LL//DD  &&  AAnnttii  LL//DD  DDBBLL::  against 3NT, for 1st dummy's suit & forbid own suit 

LLIIGGHHTTNNEERR  SSLLAAMM  DDOOUUBBLLEE 

 

 

  

CCOONNVVEENNTTIIOONN  CCAARRDD    

WWBBFF    --    EEBBLL    --  BBSSSS    

  

EEVVEENNTT::    AANNYY  
SSyysstteemm  ccaatteeggoorryy::    

NNAATTUURRAALL  --  GGRREEEENN  

BBRRIIDDGGEE  AASSSSOOCCIIAATTIIOONN  ooff  SSEERRBBIIAA  

PPllaayyeerrss::  

KKaattaarriinnaa  VVUUJJIIĆĆ    --    MMiihhaaiilloo  SSIIMMIIĆĆ  

 SSYYSSTTEEMM    SSUUMMMMAARRYY  

GGEENNEERRAALL  AAPPPPRROOAACCHH  AANNDD  SSTTYYLLEE  

1  at least 2 cards, 11÷20 HCP 

1  at least 4 cards, 11÷20 HCP 

2: strong, 20+ HCP, or 8½ tricks 

2/= 6 cards, WK, 6÷10 HCP    

2NT= 20-22 HCP, BAL, could be with 5 cards M 

3 /// = 6+ HCP cards, preemptive, light in 3rd position 

3NT = AKQxxxx, any minor (gambling 3NT) 

 

11NNTT  OOppeenniinnggss:: 15-17 HCP, BAL, no 5 cards M, 5-4-2-2 or 6-3-2-2 possible 

22  OOVVEERR  11  RReessppoonnsseess::   F1, usualy 5+ cards & 10+ HCP 

SSPPEECCIIAALL  BBIIDDSS  TTHHAATT  MMAAYY  RREEQQUUIIRREE  DDEEFFEENNCCEE  

 

 

 

 

IIMMPPOORRTTAANNTT  NNOOTTEESS  TTHHAATT  DDOONN''TT  FFIITT  EELLSSEEWWHHEERREE  

1m - pass - 1M - pass - 2NT sequence, can have 4 cards support! 

1m - pass - 1M - pass - 4M  sequence, to play! 

1m - pass - 1M - pass - 3NT sequence, 4 cards support, 16+ HCP, unbalanced 

1m - pass - jump other minor = support, unbalanced, medium strenght 

 

After DBL of CUE BID:  PASS = No control; RDBL = semi stoper; 

                                      3 NT = stop; Agreed suit = No control, more distributive 

SSPPEECCIIAALL    FFOORRCCIINNGG    PPAASSSS    SSEEQQUUEENNCCEESS  

PASS after overcall - may be PEN DBL, reopening DBL not a must 

PASS after OPPT bid on 4th or 5th level after our forcing sequence = STR 

 

 

PPSSYYCCHHIICCSS::                RRAARREE        



OOPPEE--  

NNIINNGG  

TTIICCKK  

  IIFF  

AARRTT..            

MMIINN..  

  NNOO      ooff    

CCAARRDDSS  

NNEEGG..  

DDBBLL  

tthhrruu  
DDEESSCCRRIIPPTTIIOONN  RREESSPPOONNSSEESS  SSUUBBSSEEQQUUEENNTT  AAUUCCTTIIOONN  

PPAASSSSEEDD  HHAANNDD  

BBIIDDDDIINNGG  

PASS    NORMAL, USUAL  PASS    

1  2 4 11 ÷ 20 HCP 

1// 
1NT 
2/3 
2 
2/ 
2NT 
3NT 

NAT, 5+ HCP, at least 4 cards 
NAT, 5÷10 HCP, BAL no  4 cards M 
STR/WK, Inverted 
support, UNBAL, medium strenght  
5 cards with 4 cards fit, 5÷8 HCP 
NAT, 11÷12 HCP, BAL no  4 crds M 
NAT, 13÷15 HCP, BAL no  4 crds M 

NAT 
 

Same 

1  4 4 11 ÷ 20 HCP 

1/ 
1 NT 
2 
2/3 
2/ 
2 NT 
3 
3 NT 

5+ HCP, 4+ cards 
5÷10 HCP, no 4 cards M 
10+ HCP, 4+

, F1 
STR/WK, Inverted 
5 cards with 4 cards fit, 5÷8 HCP 
NAT, 11÷12 HCP, BAL no  4 crds M 
support, UNBAL, medium strenght  
NAT, 13÷15 HCP, BAL no  4 crds M 

NAT   Same 

1  5 4 11 ÷ 20 HCP 

1 
1NT 
2 
2 
2 
2 
2 NT 
3 
3 
3 
3/4/ 

5+ HCP, 5+
 

6 ÷ 10 HCP, NF 
10+ HCP, 2+

, F1 
10+ HCP, 5+

, F1 
5 ÷ 9 HCP,  3 cards  
10 ÷ 11 HCP,  3 cards  
Jacoby, 12+ HCP, 4+ cards  
5 ÷ 9 HCP, 4+ cards  
9 ÷ 11 HCP, 4+ cards  
0-6 HCP, 4+ cards  
Splinter, 9 ÷ 11 HCP, 4+ cards  

After 1 - 2 NT:  
3/3/3 = Singlton/Void 
3 = 17 ÷ 19 HCP, no singlton/void 
3NT = 15 ÷ 17 HCP, BAL 
4/4= 17+ HCP, UNBAL, other suit, 5 cards 
4= 12 ÷ 14 HCP, BAL, minimum 
 

Same 

1  5 4 11 ÷ 20 HCP Same as after 1opening, but for  suit same as above Same 

1 NT  – – 
15 ÷ 17 HCP, no 5 c. M 
(may be 6 cards minor)  

1NT-2= STAYMAN convention; JTB (new suit by 
responder is Slam try); Texas;  Gerber ; LEB 

1NT- 2 - 2- 2/ =  5 crds /,  6 ÷ 8 HCP;  
1NT- 2 - 2- 3/3 = 4 crd M + 5 /, 6 ÷ 7 HCP;   

NAT & same  

2  0 – GF, 20+ HCP, or 8½ tricks 2= waiting; 2NT= 9+, 4++4+ minors; other = NAT   Same 

2  6 – 6 cards , 6 ÷ 10 HCP 
2/2 =  NAT, F1;   2NT = F1;   
3/= NAT, F1 

 Same 

2  6 – 6 cards , 6 ÷ 10 HCP  2NT = F1;  3/= NAT, F1 2M - 2NT:  3 opened M = min, 3 any = not min. Same 

2  6 – 6 cards , 6 ÷ 10 HCP 2NT = F1;  3/= NAT, F1 2NT = F1;  3/= NAT, F1 Same 

2 NT  - – 
20 ÷ 22 HCP, BAL, may be with 
5 cards M or 6 cards minor! 

3= Puppet;   3/3 = TRF; 
3= minors Stayman 

2NT - 3:  3= 4 cards at least one major;  
3/3 =  5 cards /;  3NT = no 4 cards majors   

Same 

3/  6+ – Preemptive NAT, New suit = NF; 3NT= to play  Same 

3/  7+ – Preemptive NAT; 3NT= to play ; 4/4= ask for CTRL /  Same 

3 NT  - – AKQxxxx any minor NAT  Same 

4/  7+ – Preemptive NAT HHIIGGHH      LLEEVVEELL      BBIIDDDDIINNGG  

4/  7+ – To play NAT; 4NT = RKCB BBLLAACCKKWWOOOODD::     RReessppoonnsseess::     5=0/3 Aces; 5=1/4 A; 5= 2 A; 5= 2 A + trump Q 

4NT  5++5+ m – GF for better minor NAT AAFFTTEERR  IINNTTEERRVVEENNTTIIOONN  OOVVEERR  BBLLAACCKKWWOOOODD::  PPOODDII 

5/5  7/7 – To play NAT CCUUEE  BBIIDD  ((44tthh  lleevveell))::      1st or 2nd control 



 

   

 


